Previous Year Paper
MPTET 13 Mar 2022 Shift 2




7127/22, 3:25 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

Professional MPPEB 2022
(07 examination TET-Reports
board
View Challenged Items/ . . R View OP View Candidate Res Brint Obiect View Condidate Oussti .".:loder(‘j:_’&or
m’}u[qq vView keporc rew Qi view Candidate kesponce Princ pjecton view Candidate Quesdon C[)-%gpeos‘{l;.%
Print
Testdate
TestSlot
Submit
Passage:

Tope:— SreNfaRad st ufer wemi e ardead: Sfaaaar 3w foar fogdl

AARATT: T WRIUHRT JAHFAAR: T | T AT HABY-GL] HITad: SHTATRT el | 9T el G Ud serfd - g avrami aerd afe fsda
afg WFIa gy Yaq 3 | 91 ufafe FdRa: 1S g g @ i SR |

Faliad JIHIRHUE: WA SHIATIRY SR WIeT T8 Hid T5a+] SRilq | dGady $8H J: RRIYHU Ul AR T 3Udq | Tddq evad: JERAURG 0
Rt Raret S | : I SUuH awavl die Hda | J: Fal 73 IHIIqar dal IR0 a8 U™ Sidl Gadi | 9% urs agiaasqri a=i:
gfad: oiiq | d WRRRAT IRMe 384 we uiyd o |

a1 g 3fagd - "forr Taq fobad Haal AeIgd ? 818 g MuSTda: | HaH 9 SEAS: | Hadl HH I&H T digaan | Taq Ifd 7 3l

Q.No: 1 IHIHUY HIdl BT?

A BHADBIAAT|
B FAgad |
o AHgas|
D iRl

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:
Hapa:— SteNfarRad Tl ufder uyHi e aarae: Sfaady S @ forad|

ARAUL: TN RIUDR] JATHITAGR: T | T HIdT BIbg-as] Hdd: SN Hekdl | 9 gl G5 Ud sieafd - gy agrd afe fdd
g WA Igp: Haq 3id | 91 ufdfed R JisH gwar 9 w9 HieH aifd o |

FHEI IFRA: WA SR G¥H U T8 Ui Tes S | TGawR B Jo: RRIVHU U AR U9 30dq | Tdq evad: JaRT0 T+:
Rt R S | 9 95 U GRaU dioiH Haa | 95 Fal 7 IHaar agl IPRAV: T8 UF™ 9 Gaa | dod U1 adiaawgqt o
ufard: il | o WRRRY SR 98 g uiRyd o |

Page - 1

a1 g 3fdad - "fovr wad fobad Hadl HEiey ? 818 g MuSidia: | YoM 9 SEPaIg: | Hadl HH I&(- 7 digaan | Tddq 3fd 7 3|

i =
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Q.No: 2 ST UIgrH Al 1ehdd dIg WA JgP: Hdq - PHI:?

A Teeat:|

B FHIHGAr:|
C ST |
D Gt

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

G- Sefferad TRt Ul Uy fadmeaerdaed: Ifaand S foed|

ERATE: TR WUSRT AT T | T AT SAGG<R] WId: SHAR Yeardl | 91 &1 T Td siedid W- gy =i qerd afg fbdd
afg e gg: Haq 3fd | 91 ufdfed Mg e o< ua s HieH Sfd 9 |

P IARAV: WIGA: SHTATI &= U I8 Ufd T8+ SRl | dader By 95: RRIYHU Ure A6 U 3Udd | Uaq evad: IERHAR
ARt et S | §: Jo SUe! awavl divH Haar | 3G Fal A3 SHIaar qal IERYUE: T UMK oe gadi | god U adiias e
Tfre: S | o WRRA IR 337 I TRy o |

Tqal i 3(dad - "fb vaq fobard vaar w8y ? g g Fusdia: | Yo 9 Ipid: | Hadl 79 9%« 7 dieadn™ | Taq 3frd 7 gidl

Q.No: 3 9: & YU AV diei Padr{| T &:?

A I |
B RTHIHAUL: |
c Grarfiad: |
D W’if:l

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Hepe:— SR sl ufda WMl [dwearare aved: Sfaaad Iw @ faad|

IEA: HETRT] RITBRT YAHFAAR: T | T HIdT HABG-as] HTad: SHAINY el | 91 ¥al §A U sieafd W- 'g-aykaHi aer afe fbda
dfe Wi I8: Haq 3 | 1 ufafed M i oxar ta @ HieH a9 |

PEITI IFRAV: WIGA: SHTAT G U T8 Ui T3+ SRl | dader S8 95: RRIYH Ui AR U9 3Udd | Taq evad: IFRAURY 0:
ART Raet S | §: I SUNS qwavl divH Hdar | e dal A I dal IERHUE T UMK O aadi | 968 U4 agiaawdH o=
ufdd: SR | o WRRRY IR 37 98 URd oF |

dal g 3faed - "foH Udd fobad Hadl wgled ? o€ d Fasiidia: | Yo ¥ I=peiid: | Hadl #H I&H 7 digad™ | Tdq 3fd 7 3id

Q.No: 4 HuEM &1 fqufda:?

A TYHTI
fadtar
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B . ST
C ol
D Tgffi

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

b~ Sreiferied el ufdedr Uy f[Aeararemeg: Sfaaady I fuar faadl

EAU: TSI WRIUDRT YITHTAUR: T | G HIdT Sbg-as] Hiad: ST Hewdl | 91 ¥al G Ud siedfd W- 'gauari wigrad afe fobdd
afg e Tge: vaq 3fa | wfafes R UieH axa v W Ao S W

PRI IERAV: HITad: TR &M U T8 Uil T SR | dGaeR B g5 RRIYAUE Uy OR U9 U | Tid SFda: IERHURT
ARt e ST | 9: 951 ST a¥dvl e $aaM | 35 T&1 A ITHIAar dal IIRAL: T UFE §d Ga, | 3o U adiawgt aw:
gfcra: Sl | o WRRRY dRie 9o 9 ulkid o |

qal 95 3fdad - "fH vad fobad vadl weied ? 318 g Musidia: | yd 9 IEPeid: | Hadl HH 9%+ 1 digadl= | Taq 3fad = 3fd|

Q.No: 5 3¢ g fweidia: - 95 & Ui waH siaed?

A Tl uf
B HRAT U
C gftsd ufi
D Hiarifa~< ufd

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Hora:— Sfenfariad TRl gfdwn Uy fddeararemored: Sfaaany 3w faedl

ERHT: TR WRUSRT AHETAR: T | T AT SAbGal WEd: SR Yeardl | 91 91 T Ud Siedid W- '@y =i aerd afg fbdd
afg Yrar Ig9: Haq 3fa | 91 ufafed M e o< va s HieH Sfd 9 |

FHII IFRAV: YIdd: STTAA &R U I[& Uiel 7T+ SN | dGaek B g5 RRIYAU U AR Ud $udd | Udd €Fda: IERHURI T
ARt s S | 9: 95H Iuue! awavl die Fdar | 95 I&1 3 IHIRTAA dal IHRA: T8 UM/ Sid Gaar | IRl un adiaawgrt aw:
gfda: ol | o WRRRY IR 3o I8 Uk oF |

el 9 3fdad - "foH Tad fohad Hadl HEied ? 38 g MUSikiig: | HaM I I=Ppaiid: | Hadl 7 9%+ 7 digadn | Tad Sfad = 3id|

Q.No: 6 diga - 3 F: YHT: TgT:?

A ol
B RIEEL
(o qaAql
arT
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D T
Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Toba:— fefferfad TRt ufsan Uyl fabearareaved: Jfaary 3w o faed|

EAT: HETAT] TRIGBRT YATHTAAR: T | T HIdT SABG-ax] HTad: SHAIRG KT | 91 9al §A Ud sieafd W- 'g-aurkami aer afe feda
dfe WM Ig: Haq 3 | 1 ufafe A i ot va @ HieH aifd 9 |

Pl IERAV: WIGd: SHTAT G U T8 Ufd T+ SR | dader Se 95: RRIYHU Ui AR U9 3Udd | Taq evad: IERAURY A:
ART Rt S | §: I IUNS qwavl divH Hdd | e dal A IHIadar dal IERHE: T UMK od aadiF | 96% T4 adiaawdr o=
qfid: SR | o WRRRY IR 337 98 URdd oF |

1 i 3fded - "foH Tad fobad Hadl #gied ? o8 g FEsidig: | HaH 9 I=Pald: | Hadl 77 IA 7 digsdi | Taq Sfad 7 gl

Q.No: 7 IMRAVRY IRARGHT: HRT Yearll: SHRI?

A Picgur]
B S|
c SIRIUT:|
D egHq:|

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

G- siehfarfad et ufdedr uymT faserrare v Ifraand S foan forad|

IERTTT: TR RIUHR] JAHEATER: T | TR A1 PAbgas] HIad: SRR Yadl | 91 91 T U Siedfd W- 'gausa i aerd afg fbdd
A e Tgy: YA 3fa |1 wfafes e 1o xar v Wy Ao Hafd W |

PRI IERAV: HITad: TTAR &R0 U T[& Uit T SR | dGaeR B g5 RRIYAUE U ORT Td 3fudd | Tl £8ad: IERHURT T
ARt s ST | 9: 9gH ST a¥dvl e $aaM | 35 T&1 A I dal IIRAL: T UFE Sd Gaar | 3 U adiawgt aw:
gfera: il | d WRRRT dwier 9o+ I8 ufkid o |

el g 3rded - "fbH Gad fobard WadT weled ? 3¢ d Muoidia: | Ya 9 I=peild: | Hadl #H F&(H 7 dleedr | Tad Sfad 7 3id|

Q.No: 8 Iuquf - 3F &: JUT:?

A 3|
B 3Tl
C fa
D vl

Correct Ans : B
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Subject : Sanskrit Bhasha 02

Passage:

Toba:— SHeNfeiad ueriei ufdar vt fas e aa: Sfadary Im fuwar fired |

RISy =AY TR,
TATY AFTY Tgi=T S|

RigaEwa g g1

Q.No: 9 ‘IS I HqUe fohamey Sifkd?

A Feld
B o
c e
D Tl

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

G- SHeNferied ueriei ufdar gt fasaarard aa: Sfadany IW fawr fired|

IS uAIY TR,
ATY ANTY Tgi=T e |

WRigaRIFEar i§ g5 11

Q.No: 10 'UHT" R s I faufaes: 3ifki?

A TRMAT
B feefian
c =gt
D e

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

Tova:— eNfarfad ueriei ufean wymt fAearasava: Sfdary Iw fudr firad|

IEIRAISY: U TRId,
T ANy gl S|
Sgemeggfd afisdr S,
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ﬁ%ﬂaﬁw%g@m

Q.No: 11 '3fferr R Wog &: UAT: HRKI?

A e
B WY
C R
D o

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Toba:— ey uerizi ufdar vt fAeeareea: Sfadary Im fuwar fired |

JIRASS: TN Terd,
UIY ATy T8Iy S |
Rfgagrear & g1

Q.No: 12 'fagH vawr yafaue far sif?

A S

B aftsdr
C AR

D 21

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

G- SHeNfirad TRl ufear vt fAeearas aea: Sfadany Im fuar firad|

SRS T T,
TUIY ANTIY FRI=T S |
STIHeIE afvsd ST,
RIgaFwe 8 gaa: 11

Q.No: 13 'ga1y" T TS I HfKT?

A g
B o
C EEG|
D =

Correct Ans : A
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Subject : Sanskrit Bhasha 02

Passage:

Toba:- SHeNfeiad uei=i ufear womt s e aa: Sfadany Iw fuwr fied|

SARASE: T e,
BUTY MY TRl ST |
RigaH®ar 8 ga3: 11

Q.No: 14 IIREASY: & TRrd?

A BILE]
B SEE|
C ufisd
D T

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Hare:— SrefifariRad geist ufdan Uyl fdpearas g Iaddy Iw [ firad|

ISy I TR,
TUIY AT gl S|
RigaaHwe 8 g&a: 11

Q.No: 15 3FdaH 31 &: Hefa?

A 2H
B LIESCERE
C 0T
D ug:

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 16 'HTdl GF: Wcllef'-Y[g Hoal

A g
B @ H
C Relt
D kel

Correct Ans : B
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Subject : Sanskrit Bhasha 02

Q.No: 17 TRfegg ®fa Haf<e

A EE)

B RS

C fo=far:

D Tt

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 18 S+ g Scid: --- g Tedld" I GGy Sfeqaud foe?

A g

B 3
C 3=
D GES

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 19 ‘3E 3id TPRII-AYHB g Ve FYHI-Thaa fdb FUH?

A S
B 38
C Sfe:
D &

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 20 TTd@T: WIRIY WHIHHE U UINH HIDB(| TaR T HRUM Udd 3 ad-

A BT P TRAHTIIRATT: ST
B HISRIT: 9 U9 7 4aq
C TEIUTT URAT: TT HAq

D AABH P THSHITIRA: SIS
Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 21 ue fuférest FHemar Riem STae™l WRITIRY T 0 g hRIcTHUa SaRMd, I
A TYMTERIS SR SERfd

B Ruamafi: s srgeRfa

(o FHAARIGH 3R

D Fad quT R B FEIEA

Correct Ans : C

Subject : Sanskrit Bhasha 02

afF amenT AnARTEIeTRT e 7 uAA AfE uwnTt - SoTer- ReT T oA
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TS THTHTHS STHMUATTN TINTL NI L TIMAL AHIY ST M TS NN T BN 1 NG

Q.No: 22

A YU VI RTeT:
B UG RTer:
C YSTHNUH TeraY:

D HTUTAG T IXTeTa:
Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 23 THM WALV TEEHET K-

A e

B ifdparear

c Ngrageifierom
D Iquifieom

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 24 zfeed a1 fory Tt uRelf wags s Wi vafd -
A REGRILRER BEa bl

B ez vafiemm

C foafers @3

D e 4

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 25 FHRPEY ST -HIAdHIuaTT: fohdd, ad: -
A afy: fenf: srg=nRar: fasf |

B Y: TETHTNIT: SATHRURY ST Fgrdl afd |

C afy: faenfi: HisT=reamr qui+ g day e |y wmul: yafw |
D aify: faeia: degumst Hiftige saer wgaf |

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 26 VIS HEMIT: BEATUN Pd HIGHTIT Td UIS+ W 3fd TR KT | o -

A Iqal: BET: S I ST T agaid |
B BEY For=IRI: T HawiT |
C WIS ITHTNIET: Wl Haq |

D Ffifemarararorg fAmfor yaq |
Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 27 Nt (Language acquisition) ¥ -

A THory fazeui, sterf sqafRuar e ugfe:
B AFETTEESIITHTRIT: HROF HTNT- =TT THT Ui
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C HIAH SHaSeaTacdr: TART:
D TR qraraRug fAafol g SIaeT: AIqUIS ey 58
Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 28 UETa5H UGl Wiedd

A AT FURBATERT GO
B fRufrrETgR

C femfofmigR

D AR

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 29 [THHETT: BHT : T Uh! Hiddl Ufecdl sfarda-a: | auf RIfdeT aF 4 FRfd Tausad o Sroidad JagRe a1 JanT:
Fd: 1" Td I Gedrg- DR,

A i

B foeTTes R
C e

D BCRICH

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 30 gl U SNSRI e Haacdt afe I Tdd TgHRead ald Haadl | Tag SHaeRie i
A HTHROTIRET

B AGTIET
C fraaeurgfdaian
D STAFGRA

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 31 e fafYy ) fawdia fafor @

A T

B Sma fafd
C wgan fafy

D YT S fafr

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 32 w= &1 g&ad JeRA & Y 3mawas el 8-
A Tor vfeaRany

B A
C Al
D LS
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 10/62

Page - 10



Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 33 2=t {1 & A EER ¥, Wed) & Y IR AR T& #a B-

A
B
Cc
D

CIGEE KGR
T F | R
S & 3aIE W
R W

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 34 g} F HwT dRaw Pt S=old Wvadl gidl g1 98 faer e § 9 frger §72

A
B
Cc
D

SRE P
ST BT
wsH &Y &1
Elecial

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 35 & & & BH-1 HIST TN PT SFHIT T 82

A
B
C
D

e THIE
[BUELER]

AU HIS

QU B3 TG =0 FHef

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 36 FFfifad & q ud® W 7 aroft el Bl B
A IR SR BI
B G TR B
C B: BR DI
D 315 BR Bt

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 37 9 ¥ 9 Fg1dl & wery § S1as! & I & uRafdd vd uRaivld s 1481 IaReilid fFaer § 2

A
B
Cc
D

AP P
TS BT
Sl BT
Hiar-fdr &1

Correct Ans : A
Subject : Hindi Bhasha 01

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Q.No: 38 FHEH! YIH U Tl TR FT ¥R Tl &2

A
B
Cc
D

= T B ¥

Tl P Hed Ve 9 o e &1 e g @
T Fa1 & TP S1% Wd 384 &

T SR T8 &

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 39 3HIUD! H&l & T H SIMTeHal Bt Wi feA-Tfafe Sgicht o 38 81 39 T omg g # F 1 ITER H34?

A
B

C
D

SRS PR3 a8 BT & e & e &0

SRRl B dTdd BB & SFHUTTDH! Bl Gfed Bl

SRR B I (AT FAUT UM FRP I3 = 3@

Rieor S B s T O RIS Wa: 8 9T g1 St

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 40 UAe TR R T $1 HWT e & Jef #f Fafied § ¥ $F-31 53 3/ 82

A
B
C
D

T WY B wifed 3R g Saell & Yy ey o &

el B | Hhearsit iR faenera & vafera yrsr ufkawr § faRiemyr & wro den & ggre St 3
FUR & T W & 9 aret fewlrf 7 e snar 3 9= A o S B u@hat g

T I HIT-uRaR & 9ee SR Wa: T ¥ HiwT & uRaArH &R df

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 41 RS f3oHTa & g w1 It & sraxass § RiaT &t Ry & TR fawr & faw af &1 gy e & 9§ fde oy 82

A
B
C
D

T e

St forarst

ST U AUTHFOF
R

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 42 &=t Rerr & Hewice-T & firg ST gt 82

A
B
C
D

feurers olan &1

RGNS SUR T
TRINTIED TI& 1

TG SMYR T4 TN URI& Bl

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 43 YN &1 Bl P AR Sl BT TMeT?

A
B

HaIRI W gfckrat foredt &
SRt LTI el W A E ot &Y

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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C ViG] IRIED 9ICT SR d=f ¥ 4 Y-

D gl sl Y STl 1 FE SR A b SHRBIRIF SrawR ot
Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

W FTH B Tgdx Y T U=Al & Tad IFd SR ardl faded &1 997 Hifore-
T Rt WA T H o Bl BIS gART §
BUR Sa=it 7 ot O fara! YRy §

B dHER T Y WR 9 {50 Rew
YT 98 3 BH qHSDI, TRRI §dmTs &

TR Heitha § & el R =i R 8
a1 ugen 81 b yRar, W Siiehl A @i gHa!
1t ftqa garait 3 Pl gHel gaRT @

ST S5 g it o ot e &

3 5o 1 B Sl T g AR 7

BH O 99 9 Sl 78T &t ot g

Y IFH! ST il g, b R AT 3WRT ©
firet, fRrepar, Rerd g6 Y I @ R fpad
T 1 Rth o SRSt T 1 WBRT §

Q.No: 44 9 & § Iuad ufekdl & IfeRadl &1 419 Sarsu-

A 3P 1Y U™
B USRI Tgd &t TRIT
c IR gt

D TOIRI TS fegadt

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

e HTH B Ygdh Y U U=Al & Had IR SR ard faded &1 997 Hifore-
T Rl TR A T H ofd Bl BIS gART §

BRI Al 3 3 iR frga) qerT @

B GHAR T S R U 5 saw

AT 98 3 g9 gHDI, TR 9aBTs B!

TR Heftha § 28 3l fsY 7 grerT @

I ugen g fo5 Ra1, T sifeht I it gE!

i et gareil 7 el gHB! GORI &

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 13/62
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wmﬁmﬁwﬂma’rm%

3 5o 1 B Sl T gl AR 7

BH St 3 & S T &t O gl

Y ISP ST Il g, b R ORI 3WRT ®
foretr, fRrepar, Rerd g6 Y H @ R fpad
T 1 Rith oo Rl 1 8 WERT §

Q.No: 45 IWa Uil & SRR Rad R o gfef Biforg-

T 3EUF g fofeTh ST o aen & df gIH F1 ¢ o gl
A T8 g WarT
B T8 TR g
C T gD TaRT
D T3 HE @

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

ST PR BT UgdpR Y U U=l & Ga9 IR IR ardt [dved &1 9g Hifore-
T &Rl WA Y H 3(F BYI PIS AR §
BN Sl 3 o R fhgen geRT @

B PR T 9 R U1 5 sew

YT 95 ¥ 79 gAPI, TEN AP I

TR Hefha § 3T ol fo =af g §
I ugen g fos Rar, m sifeht I it gE!
P el garehi 7 Bel gHD! GURT ©

31 3reu g foieTit ST o sidar <
g I HI § S T g AR §

B O A9 | S 78T &t ot g

I B! ol Aol §, P AR TR B
firen, e, Riemd g9 oY 0 df 3 foad
& a1 R S gt &1 81 WeRT ©

Q.No: 46 9 & ¥ forey <eg o1 W Iuaa dfcaat & et fopan ma 82

A CEZA
B aifeft

c TP
D eRI

Correct Ans : C
Subject : Hindi Bhasha 01

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Passage:

A& e & Ygdh Y U U=l & 9ad IR SRk ardt fddwed &1 997 Hifore-
T &Rl WA Y H 3(F BYI PIS IR §
BN Sl 3 3 bR fbgen geRT @

B TPaR @ 9 R 99 50 aw

YT 95 ¥ T gAPI, TEN SIBTE BT

TR Heftha § 3 el fow =af g §
I uge g fos gRa1, T Sifeh I Tl gE!
P! =it garsii I Hl gHB! gART &

ST $EHH gl fferht gaT ol Saar &
gl O H § S T g TR §

T S 3 S Y &t O g

Y IGD! T Hell ©, b R RTINS
fivem, R, Rierad g7 Y ot @ B3 fvaq
o @ Ri 3o SRt 1 € W §

Q.No: 47 fH & § SH-91 Ysg TH BT yafgar Ues el 82

A LGS
B T

C SRR
D BRI

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

= P B U IP T U= S I99 SFId I<R a1t [Apeq 31 99 Hifoe-
T Rl R A 7Y H 376 Dl IS oHRI §
TN St 7 S R el goRT §
BH dHER T 9 R 9 {5l gxed

Y 98 3 5H TADI, TRN SAPR I
TR Teftha § & 3 o @ greRT §
9 ugen g1 fos qRar, m sifeh I i gE!
P 2fidt garshi ¥ el gHD! GINT §
ST R R foferf g at aqen &

I g 1 BT 8 O TS g TART §
BH Sl o A Wi 8T et ok g
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Y It oot meff B, o R T 33T @
i, Ripar, Rierd g0 &% ot & o foad
g Rih oA ge F1 € WERT §

Q.No: 48 IqYad Ufddl & IR Rad =M o1 gfef Fifore-
fivan, Rrepar, Rremad g9 % off @ B3 s g6 df R s,

A @ BT WRIBI
B B BT § TR 3
C it &1 8 WERT B
D e garsht &1 € WeRT B

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

&R ST B UgaR I U U & Ja9 Ifid Iak ardl faded &1 997 Sifors-
T eRell WA 9 T 3@ Bgl dlg AR §

B St 7 31T bR b goRT §

B dHER I Y W 4R 5T gvey
AT 96 ¥ g1 gHSI, JRERI 9aBTs Bl

TR Teitha # 31 o R =i geRT 8
a1 uge gl b uRar, W il A @i gHe!
Pl 2l garsi 7 gl §HD! GART §

g1 e gl et gamT df waan &

31 gHH o1 HH! § S eI THD! TART §

BH S °9 A ol T8 <t adt gl

3 Igd! 3o Hell 8, fob fhR kT 3uRT ©
firer, fRrepar, Rbrrd g7 B o @ AR fHea
& o R 30+ SRIQ &1 81 WeRT &

Q.No: 49 1 & J wgur & -1 Ty 32

A CEE kD]
B agife ey
c & 9fy
D qfg dfy

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:
&R ST B UgaR e U Ul & Ha9 IRId IR ardl [dabed &1 997 Diforu-
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Haﬁﬂwqquﬁamaﬁaﬂs‘ﬁm%”
BURT S&t 7 ST R fh o] YoRT 3

BH dPaR 1 99 R U 5 gan
T 98 3 39 qHSI, JRRI JaBTs B!
TR Teftha & 3 oo R =i geRT @
I uge g fos gRar, m sifeht I it gE!
F 2fa garehi 7 el gHD! GINT §
TST S5 g At o @ Fqe &

3 FH 1 B B S ol qIP TN §
B ot 3 S T &t O g

Y ITH o il g, b R 3R
fietn, Repdr, Ribrad ga Bl @ B fned
& @ R 3o SR &1 €1 W ©

Q.No: 50 A & § -1 s ST BT TN B 8] ST 747 872

A e
B getar
C IRt

D nferea

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

e R fou U T @Y ugeR U TN Ul & 9ed Id IR 9N f[aded @1 9ad Pifen-

TR I 3P B HEA SID UT| AN ITDBT A1 JABR Hidd ¥ | B - B GoaH Bl DIt SYP PHI ab Hl Tgal | IH! T 34 @ P
o 31tk 81331 | 98 T 2 IUeR & qHY €161 HR! & URT 311 Ugdl 3R THRPR B 93 AT |

P, IR P 3 T

GeolH Bt A Wi aqrs I

fafes TMER B1 3@ @ U B S

B ot w v g R

JIDT I TRRT T HIg I

HEd ¢, &T ol 91 YR B

T B! Ol I TP IR & Al 8, I gad W I9H! Bid 3ifdd g1 ot g1
31 Al 9gd fardl 9 2R, Afs i1t 311 a1l

T YR SR WRiE sraed # ugd | 9161 3 el fowmn v § ok wgiie 3 gier 3a oy §1 98 $9 &R aP JUAd Wl g7 3Ud
U H gaTd o1 Wit Srae) I - It areiRar § Sien- "9, 39S A 7 o, d o S|

arar ot ff 77 € Q) ool o BT TR R & 08 A g & T 39T g8 iR B | OIS Pl iR a1eR | U OeT ag-av 3§ 38
TN ITD! AT SGDR WGIRIG P gad W I dic T I ST% AT 3R S % 34 THG 311 AT, U W a8 HTAT SHYDBR FHT ATl STl - ST
I gl - "a1E S, T 98 6IST SMu% U | 8 g
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Q.No: 51 fHifdha @A fuet g2

"HEl, TR HY 3T Y 2"
A LEEUIR
B SI&T HIRedt
c e
D Tgig & it &1

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
g A AT T T B ugaR g T TR & 9ad Sfud Sak ald [ddhed B 9o dHiferg-

TSR I 3P BT FRAM P UT| AN ITSHT A FABR Bigd F | B - B o Bl DI S9P SFI ab H gl | IYHT TF I 58/
forg orefR 81 33T | 9% U 1371 QUeR & 9y 9161 YR & U off Ugdl 3R TSR SR 96 T |

P, TUR B ST T

Yol Bl =1g Wid g’

fafeE SR g1 3@RT o uee gl Seid

B off 5ty g R

IID| IR FRT A9 Alg At

FE ¢, oa § ff TSR T

1 e S 34 U SR 3@ AT 8, I9P gad W IUB! i3 $ifda & Sk g
TR0 ol 9gd farl A Y, Al o1 o Fap11'

A1 UR SR WETRIG Rded | Ugd | 161 A Oisl G@mdn 9ie ¥ SiR Wgiig A °9IsT 46T 31y 91 98 $ & d gudd Tl g1l 3Ud
TU § gaad o | STae! of - It refRar @ Sidl- "SI, 3UB! A A &, d 1 /e

a1 St ot TS g1 13Ul avg B URIGT G b G U G & T 361 ged SR B T 9l Bl Wida) &g} o MU 9ieT 9g-av d IS
TN I AT SIPR GEIRIE P ged W I dic 1| 98 STd AT 3R S a%g 39 T¥G 311 AT, 39 W a8 AU SHABR FHHdT ATl ST - S
I gl - "SIE off, H g 9ISl YD U 7 6 g”

Q.No: 52 fwifdrd HgTaR &1 3fea o &1 T PHifom -

T W [T A
A S EE
B ey fe@m
C S BT
D deg BT

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
= e AU 7Y TR 3T UgdH] UE U YA & oY 3R SR aldl fddhed &7 99 Sifere-

TR 39 3P BT FOA SIF UT| AT ITBT A AR Bidd 3 | Tl - B oo BT DI I9P BT dp 1 Ugdl| IHT O I T8 $
fore s1efiR 81 33T | 9% U 131 SIueR & i 9161 YR & U off Ugdl $iR TSR &b 96 T |

PI, TW Y ST T2
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'gﬁﬁﬁﬂrg@ﬁﬁrﬁl'

"fafer SR B1 3T o e g1 Seid )
EERICEIRRIRSEINE

D! T ERT T Ag Al

FEd ¢, 7@ F W ST IR FI

" HET O I TH 9R T AT 7, IIF ged W 39! ©id siftra 8 st g1
T Al 9gd fadl A ft, AP o1 o Fep11'

AT YR 3R WEIRIE 3Raed # Ugd | F161 3 Gie fommn ors 4 ok Wgriie A 9ie1 3@ oy 31 98 $& o) aF JUdIg Wl 3§71 3Udh
TS H gu9d o1 @it STae) $i - It 3iefiRar I Sien- "9, 39$1 9| | <, ol 9T S

a7 g A1 ST 9% Bl IR G & GW Y G & 1T 761 g8 3R 31 1| U1 Bl Wiadh §16) o MU 9eT aig-a7 U I8
W ID! A0 TEPR TFIRE & ged W AT dle T71 98 STF AT 3R Sl 9% 39 TG 3T 1Y, 39 W 98 301 SIRGR FHar o711 S - S
3T &gl - "a1aT S, T g8 98T 39% Ui | X8 g

Q.No: 53 SId- S WRIE A a1al YR § o1 g2

A e, SUP! TG A <G, o F1 @

B ~g1aT o, & I8 OIS STUP U | X8 Sl
C "o PI 918 Wi " 1"

D "B oft ot =i g R

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

= R AU U TR 3 ugaR U TN Rl & ey 3fd IR dd f[Aded BT 9ae Piforg-

GIRIE I IaTP BT S SIF ATl TN ITBT AH FAGR Hidd A | B - B YeaH B Difdd I9Pb ST dap ot Ugaht| IHT 79 39 7/ &
forw 31efik 81 301 | 98 U 13 SIUeR & THT 9161 URdl P UN 3T UgdT SR THEHR HRP 39S 4T |

"HEl, TUR HY 3T TT?’

S UEKCI IS CRCICASIEIE

Al SR g1 3T ol U gl e |

B oft 5 oI G R

ITD| I GFRT 79 1lg Al

T ¢, & F ol SR YR T

" HET! O I UH IR ¢ AT §, SIP ged W 39! ©id oiferd 8 St g1
31 Al dgd fardi A Y, AP o1 o Fap11'

AT HRA 3R TGTRIG Raed | Ugd | 161 3 Ol fe@mn wie ¥ 3iR WgrRig A °IsT 3T oy | 98 $3 &R I Juad Tl @1l SUS
TS H gO9d o @it STae) i - It 3iefiRar | dien- "9, 39$1 9| | o, ol T SEne”

a1 St o TS g1 A1 SOl 9% Bl URIGT G b H Y G & AT 3761 ged SR B TN O Bl Wiy §e} o MU0 9ieT 9g-a7 A I
W IUD! I @R TG F g&d W I dIC 7T 98 SP AT 3R Sl I 39 TS 3 AT, I WR I8 0T ISR JHT Tl S - S
I FgT - "arar o, H U5 9ISt Sud U T g g

Q.No: 54 5 91 ‘IS T AN’ & T TP s BT T B

A CIS]
B T
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C EASER
D gl

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:
e - fau T T B g 4 Y Ul & Had Id IR 9T fdebed BT 9g Piiere-

GERIE 39 TP P HAd SIF 4TI GHT IHHT A1 AR DIad § | BId - BIdl Yool DI Bifd 39P Bl ab ot Ugdl| IUHI A 39 G& &
for 3R &) 33T | 98 TP 2 ueR F qHT e UR F URT 37 Ug T 3R TSR HPb 88 T |

P!, TR Y 3 T

Yool Bt A Wi Al

fafers SFeR 31 3@ o ugw g1 Sefd

B oft 5 i g R

IAD! A JRRT T HIg Al

T €, 3T 7 off T YR B

' TN S IY U IR 38 Al 8, I9P gad W IUD| Bid 3ifhd g St g
T dl ggd fardi A ft, AP o o FH1I'

T YRAT 3R Wi sRaea # Ugd | 9167 3 HieT o wis ¥ ok wgriie 3 gt 3 ey 1 98 $9 o) a6 JUAd sl 67| SUd
%y § goad g4 ol | ST Bt - T 3R ¥ Sia- "9IE, 3961 9d 7 4, q) o Sare”

a1 Sit o TS g1 A1 Sl 9% Bl URIGT G b G U YA & [T 371 gy SR g | 9 Bl Widiehy §e} < U UisT ag-av § I
TN STD! AT SGHR WEIRIG P ged W /T die 71| I8 ST AT MR S a¥g 39 TG 3 AT, 39 W a8 (OT SHABR T ATl Sl - S
I Bel - "SaT oft, § I8 HIST 3PS URT 7 @ o

Q.No: 55 fgiefed a9y o1 Ife™ gdvH o1 § Jgfau|

TG T 3D B FTAE SIg ATl
A TE T TP $T FOIC SIE 6T Bl
B GGIRIE U 51 BT POIA SIF ol
C GERIE 39 S $T FBIC SIF @1
GERiE $9 3015 $1 LA SIg 8T Il

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:
fAd=r: R AU U TR B ugdR Y U U=l b Had IfAd IR dId [dbed BT 9h Pifor-

TR I 3P BT HEA 1D UT| AN ITHT A1 FABR B ¥ | T - B oo Bl DIl 3P PHI ab H Tgal | IqHT T 39 @
for s1efiR 81 33T | I8 T o GIUeR & AUy 9161 YRl & U 31 Ugdl IR THRER IRP &6 1T |

"HEl, TR HY 3T T’

eI B 916 Wid a1’

o SIFaR g1 3@ O U9 g1 Sei
B oft 5 v G R

IUDI A FRRI T HIg Al

FEd €, & T off 71 YeR B

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 20/62
Page - 20



&1 gl a‘raﬁwwé&ﬁm%,aﬁwmaﬁsﬁ&ﬁm_@a;ﬂ%r
'g%5] 1 9gd fanl 9 o, Al ofret o Fa1l!

AT HRA IR TGTRIE SRaed | Ugd | 9161 3 G991 femman vr8 ¥ 3iR Wariig = °IsT 34T o ¥ 98 $9 &R d& U Tl @11 3UH
Ted ¥ gaad g il | STAd! &1 - It SrefRal ¥ Sidl- "ITE, 39Dl A1 A odl, df ol S|’

e St ff 7 @ A1 oo aRg B IR gIR 6 g9 U A & 1T 3@ g SR 81 Tl OIS %Y WA 9e) d MU Ol arg-av § 34
T IUD! I GEIR TRIE F §&T W T dIe T T8 S1P T AR Sl I 3U TG S AT, I W g AU SASR JHT 4Tl S - S
I FgT - are o, H 98 9ISt U U T @A g

Q.No: 56 TRqd el ¥ Y& & & S 61 UM §?

A G

B TgRiE
C & YR
D WY dED

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
e A fau U TR @1 ugeR U U Rl & 9ad 3fd IR aId f[Aded B 999 Biforg-

TR 3 3AF P FAT SIF YT AT ITHT A FAGR Hid ¥ | Tl - B Gea &1 Bifed 39F FHI qap o ugdh| ISP 77 I T8/ &
for 31k 81 3371 | 98 TP i uex & 99y 9161 YR & U 3 Ugdl SR TSR B 86 T |

PEl, SUR Y 3T AT

I ICIERCICACIE Y

fafes SIHaR g1 3@ ol U g1 SeiRl

BT o 5t i g R

"I I GERT A9 Hig il

'FEd ¢, ST T off 71 Y B

1 B! S 34 U IR W 9l §, SUP gad R 3Ua! Bfd ifebd g1 Wit §1°
w31 dl dgd fadl ot Afp 31T o Fap1 1"

AT HR IR TFIRIE Raed & Ugd | 9161 A OIsT @ 948 ¥ iR WgRig A °IeT 46T o 9| 98 $ & 9@ gudg JeT 8Tl SUdb
Ted ¥ gaad g @l | STap! &F - I 3refRal ¥ Sidl- "IIE, SUB! A A S, A 9T S/’

a1 St ot TS B A1 ST a¥g B U G b JE I A F T 3761 ged SR g1 1| 918 Y Widia) §e} o MU 9T 9g-av d I
T IUDT I16 SHIR WLTRIE F g W T1T dIC TN T8 TP T 3R Sl I S TS S Y, I W g 0T SABR JHGHT 411 S - S
I FgT - are o, I8 GIST U U T 8 g

Q.No: 57 “...” 39 % &I ®1 $8d &2

A Gellys g
B e - g
C famzu g
D IRy fog

Correct Ans : D
Subject : Hindi Bhasha 01
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Passage:

A= R AU U TR 31 ugdR U TN U=l & 9ad IfUd IR dId fdded BT 9hd Fiforg-

TEIRIE 3 AP BT AT SIP ATl TN IUDT A FAGR Bidd A | B - B Yeol- B Difct IuPb HHI dep off Ugat| IUHT 79 Y 8/ &
fore s1efR B1 337 | 9% U@ 137 SIueR & 99y 9161 YR & IR off Ugdl 3R TSR Hdb 86 M7 |

"HEl, TR HY 37T Y’

e B 918 g a1’

"fafer SR §1 3R o U g1 Se )

4 off 5 IR g 31

"IYDI I R A9 Hig A’

T €, &L H o ST R T

T FET O I TH 9R &7 AT 7, ST gad W I9P! ©id siferd 8 st g1
w1 1 §gd fardl 9 o, AT ot o Tl

TEN HRAT 3R TTRIG Raed & Ugd | 9161 A O1el fG@mn gve ¥ iR Wgiiig A °IeT <1 3 1 98 $ &R d gud Tel g1 STS
% § goad g ol | ST B - <t 3R I Sidl- 916, 396! 9| 9 S, d) o Sare”

a1 Sit 4 TS g1 A1 Ul 9% Bl URIGT G b H Y YA & AT 371 gag SR g1 1| 91 bl Wik §e} < MU HiST dg-ai A I
W IYD! A1 TEHR WIS P ged W U dIe T71 98 S U1 3R Sl a¥g 39 THG 31 WY, 39 W a8 U1 SIRBR Frar 411 S - S
IT el - "I S, T a8 69T 39% Ui | 8 g

Q.No: 58 "far” eq fpgat fadiv weg &2

A ER3IA
B =i
c Yo
D ERE]

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 59 :3ad =t & forg whferd e o1 H<ira TrEfor e &T 359 § B
121 Sedl 31 AfeP G Iuasy BT

A Frafta femeat

B IS

o fad=

D e farrme

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 60 ¥ & § [REPR Td TUS BT S YT ST HI CEIGI
A HIGHRY

B TUEEH

C 3w SR

D THIaqUl

Correct Ans : B

Subject : Hindi Bhasha 01
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Q.No: 61 What should come in place of the question mark (?) in the following question?

2466991
(2896 = 181)% + (646 + 19)? = 724 319
frafafaa uy & uyare [ (2) & RIF W 1 ST F1eT?
(2896 + 181) + (646 + 19)7 =72+ 319
841
A
841
29
B
29
31
C
31
961
D
961

Correct Ans : B

Subject : Mathematics

Q.No: 62 What should come in place of the question mark (?) in the following question?
2466994

1311 + 1.9 + 8525 + 625 =7

Fofeiad vy & usar® fas (?) & RIM W 37 A 91igT?

1311 + 1.9 + 8525 + 625 =7

603.64
A

603.64

703.64
B

703.64

584.46
c

584.46

686.64
D

686.64

Correct Ans : B

Subject : Mathematics
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Q.No: 63 The sum of ages of two persons is 30 years. Find the sum of their ages after 4 years.
2467298

Sl ol @ org BT AN 30 a¥ g1 4 TN §1G IHD! 1Y BT ANT J1d Biford |

30
A

30

34
B

34

38
C

38

40
D

40

Correct Ans : C

Subject : Mathematics

Q.No: 64 Sum of ages of three boys is 81 years. The differences between their ages are 6 years. Find the age of youngest
2467303 poy in years.

@ TSB! P oY HI AT 81 I8 g1 3! 34T T 6 TY FT 3R ¢ YU BIC TSP &I 37 I8 § 1A DI

21
A

21

22
B

22

23
C

23

24
D

24

Correct Ans : A

Subject : Mathematics

Q.No: 65 The sum of the squares of the present ages of Salma and her mother is 1125. What are the present age of both in
2467384 years?

TJAAT 3R ITD! A Pt TAHH IY B T BT AN 1125 1 S B 90 ST I8 | T 82
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40, 5
30, 15

30, 15
25, 20

25, 20
16, 25

16, 25
Correct Ans : B

Subject : Mathematics

Q.No: 66 The ratio of ages of A and B is 3 : 5 and difference is 8 years. Find the sum of ages of A and B.
2467406

A 3R B &1 g &1 3UId 3 : 5§ 3R 3R 8 9 §1 A 3R B B! 31 BT AN J1d Difoid |

16
A

16

32
B

32

40
C

40

24
D

24

Correct Ans : B

Subject : Mathematics

Q.No: 67 1 1 4+ 9

If x+—=2,then — =7
2467764 X ) Ix° +5%x+3

aﬁx+i=2,?‘-ﬁ ﬂ—?
X

3+ Ex+3
A 4
1
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= -

ol =

Mol =

Correct Ans : A

Subject : Mathematics

Q.No: 68 In the adjoining figure, AE[ICD and BC|IED, then find Y.
2468155 A

700
A

700

G0
B

600

450
C

43¢
D qpe
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aoe

Correct Ans : A

Subject : Mathematics

Q.No: 69  The supplementary angle of 82° is:
2468170 =

$2° T YYD B §:

og°
A

98°

go
B

ge

82°
C

82°

164°
D

164°

Correct Ans : A

Subject : Mathematics

Q.No: 70 An angle i5 20° less than thrice its supplementary angle. The measure of the angle is:
2468174

U DI AT YD BI0 & dF T o 20° FH g1 HI0T BT A g

130°
A

130e

150°
B

130°

160°
Cc

160¢°
D 120°

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 27162

Page - 27



120=

Correct Ans : A

Subject : Mathematics

Q.No: 71  Find the value ofnif (52 x 3%) = 252=3515
2468279

n 1 T FId BT Afe (52 x 53) = 252=515

4
A

4

3
B

3

2
Cc

2

5
D

5

Correct Ans : B

Subject : Mathematics

Q.No: 72 Two numbers are in ratio 3 : 8. If the sum of the numbers is 165, find the numbers.
2468298

3 WM 3 : 8 F U | g1 I Wesii &1 anT 165 €, O Y=t 1 S|

45,120
A

45, 120

30, 120
B

30, 120

10, 100
c

10, 100

25, 125
D

25, 125

Correct Ans : A

Subject : Mathematics

Q.No: 73 Sum of two integers is 85. If one exceeds the other by 25, find the integers.
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2458372
3 quifept &1 ANT 85 B Afe T gux ¥ 25 Sifde §, o quiie J1d Fifere?

50, 30
A

50, 30

55, 30
B

55, 30

60, 25
c

60, 25

35, 50
D

35, 50

Correct Ans : B

Subject : Mathematics

Q.No: 74 When it comes to Problems Posing, what does it means in mathematics:

2468461
ST ERT I el §, < ra B gwet & o 8-
Inability to solve problems
A
U B B H Sramefar
Raising doubts in the class
B
e # Hag I gl
Creating problems from the content
C
fowg-a%g ¥ gHAT SOd HAT
Solving Problems
D

UYH gl PRl
Correct Ans : C

Subject : Mathematics

Q.No: 75 According to Piaget when the child is at formal operational stage, it is appropriate to introduce
2468611

IS & AR 56 S® SNUaIRS fhared® Sfawil & gl ¢, 96 IWiad J J 3 9 o1 ufvag &1 Sfad grar g 2

Data handling

A
3PSl BT JaeH
B Numbers
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Rl

Geometry
C

GGl

Ratio and proportion
D

SIUIT T JHIFUT
Correct Ans : D

Subject : Mathematics

Q.No: 76 Calculate the ratio of 55 cm to 1 m.

2469617

55 9 A 1 HieR BT SUrd I1d Do |

11: 20
A

11:20

20:11
B

20:11

7:5
C

7:5

9:5
D

9:5

Correct Ans : A

Subject : Mathematics

Q.No: 77 The ratio of 1 m 8 cm to 72 cm is:

2469651
1 ™iex 8 A T 72 Jfit &1 UG B
3:4
A
3:4
1:2
B
1:2
3:2
C
D 5:7
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5:7
Correct Ans : C

Subject : Mathematics

Q.No: 78 The ratio of 45.5 minutes to 2400 seconds is:
2469680

45.5 e ¥ 2400 ¥FS &7 UM &:

81:80
A

81:80

91:80
B

91: 80

80:81
C

80:81

80:91
D

80:91

Correct Ans : B

Subject : Mathematics

QNo: 79 . e ecililosionhy =2 p=22
2469896 Find the value of the following expression when a - b=—-2.
a’+a’b +abl+ab+ 12
ﬁmﬁfﬁﬁmaﬁﬂmmﬁﬁuma:—;b:—z
a? +a?b +abi+ab+ b2
5
A
5
12
3
B
12
3
26
5
C
6
5
D N
5
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w |k

Correct Ans : D

Subject : Mathematics

Q.No: 80 Which is not a method of teaching mathematics?

2475376 Tfird ugr @ H 9 Iy T &2

Transition

A )
a.JiGWH

B Direct Method
Ty fafy
Inquiry

¢ i

D Grammar
AThIT

Correct Ans : C

Subject : Mathematics

Q.No: 81 Which two signs and numbers should be interchanged in the following equation to make it correct?
2479437

16-2+4x6+12=32

Fofeiag T o 98t w1 & o 6 <1 Rl ar demsit & sy § gedr ST T1ieu?
16 -2+4x6+12=32

+ and -, 2 and 12

A

+ 3R -, 23R 12

<+ and %X, 16 and 4
B

+ 3R x, 16 3R 4

-and +, 4 and 2
Cc

-3R +,4 3R 2

= and %, 16 and 2
D

+ 3R %, 16 3R 2
Correct Ans : A

Subject : Mathematics

Q.No: 82 If'+'means'-, ‘-’ means 'x’, *x’ means ‘+’ and '+’ means '+’ ,then
2480934
2+-6%xXx6+2=7

Al 'y 3R -, BT e e, xBTS AR BT Y, W2+ 6x6+2=7
A 1
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0
B

0

10
C

10

5
D

5

Correct Ans : D

Subject : Mathematics

Q.No: 83 Given interchanges: signs + and +, and numbers 2 and 5; then the value of 10 + 2 x 3 + 4 -5is
2481064

fou TN S (3NU § Sea): g + 3R <+, SIRIWI 2 3R 5, W10 +2x 324 -5FHAFT

2
A

2

4
B

4

6
C

6

8
D

8

Correct Ans : D

Subject : Mathematics

Q-No: 84  Formative Assessment is assessment

2481426
TTATHD BT @ 2vvevreens Teie
A at learning
T W)
in learning
° e H
for learning
y st ¥ fag
D of learning

Correct Ans : C
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Subject : Mathematics

Q.No: 85 DIRECTIONS: Study the following table carefully to answer the question given below.

2481900

Cc

D

Production (in Quintal) of different crops of a state in the given years.

Crops 2005-06 | 2006-07 | 2007-08
Rice 8920 7100 7920
Wheat 4800 3040 4610
Pulses 1830 1580 1420
Sugar cane 259700 29430 28450

By what percent approximately did the production of wheat increases from the year 2005-06 to 2006-07 ?

FEw: Fufafed IRl o1 ergde srema wR I 8 T uy 1 3w il

fou v avf & e g & faftd waal o1 Idre (fdea ®)|

Tad | 2005-06 | 2006-07 | 2007-08
EICEl 8920 7100 7920
i 4800 5040 4610
e 1830 1580 1420
T 29700 29430 28450

99 2005-06 ¥ 2006-07 T 7§ & IdG & T o wfoRmd &t 9fs §52

5%
5%
10%
10%

20%
20%

15%
15%

Correct Ans : A

Subject : Mathematics

Q.No: 86 Heuristic means

TIRREH FT Haad §

Problem solving method

2481936

D

I gy iy

Project method

gk fafy

Discussion method

= fafy

Heuristic method

WryHiae fafy

Correct Ans : D

Subject : Mathematics
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Q.No: 87 An assessment that is generally carried out throughout a course is called?
2482283

T 3MHa S 3H IR R G Ursashd § a1 ST 8, Heerar 82

Diagnostic assessment

A
élall?ﬁ HAlh
Formative assessment
B
IATHAD b
Summative assessment
C
i i
D Contemporary assessment
HHYHRS Yelih

Correct Ans : C

Subject : Mathematics

Q.No: 88 Who used method of Trial and Error?

2482726
Tteor SR e By &1 wanT fa famar
A Skinner
=
Thorndike
B
YHeRH
C Thurston
D Laishlay

Correct Ans : D

Subject : Mathematics

Q.No: 89  The devices used to make teaching method more effective are known As:
2482844

Rreror ufa &1 iffie THdt §9 F e M SRl &1 wENT {1 ot B, S 39 U § 9T ST 8

Principle of teaching

A TRigror 1 i
Technique of teaching

° R 4
Methodology of teaching

¢ TRigor @t agfa

D None of the given options
fag g fawed 7 @ $E T

Correct Ans : B

Subject : Mathematics

Q.No: 90 Passing marks in an examination is 36%. If a student gets 72 marks and failed by 18 marks, then
2483796 . e
the maximum marks of the examination 1is:
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v qdietr & 3d0fie 36% E1 AT UH oI 72 3% uied oldl b 3T 18 3 § el g Sier
%, o 8T 7 quiis & e

100
100

200
200

250
250

400
400

C

D

Correct Ans : C

Subject : Mathematics

Q.No: 91 Which is secondary producer?

2469762
fFrifera 9 fcdhas S 82
Elephant

A
Frlt
Goat

B
CEl
Fox

C
CLSH
Monkey

D
TR

Correct Ans : C

Subject : Environmental Study

Q.No: 92 1In teaching of EVS, a teacher has to teach about leaves of trees. The best method is-

2470347
gaieg & e &, te Rerw o1 U o ol § IR & UgH &1 T 3T addT 8-
Explaining orally about the leaves
A
Rl & IR & Hifee T Y HeE
Explaining the leaves and its functions with the help of a model
B
Hisd ot WeradT 4 ufrll SR IS Hrl B GHHI
By giving lecture on leaves
C
Tl & §R § SRS aaR
D By taking the students to garden
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BE B T H Q@ AT
Correct Ans : D

Subject : Environmental Study

Q.No: 93 Where was the 2002 world summit on sustainable development held?
2470438

Fad faer &1 2002 &1 3y RRR guia- waf s faar mr ur?

Dublin
A

Safer

Doha
B

EiEl

Johannesburg
C

et

Rio de Janeiro
D

fer St s

Correct Ans : C

Subject : Environmental Study

Q.No: 94 On February 2, we observed World Wetland Day which marks the signing of Ramsar Convention in which of the
2471968 fy||owing year?

2 TRaY B, g9 des dedle S HAmT o fafifad § 9 g o & IR $9F R gWIER $ B Udd 82

1968
A

1968

1970
B

1970

1971
(o

1971

1975
D

1975

Correct Ans : C

Subject : Environmental Study
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Q.No: 95 Which smog has high concentration of oxidising agents and is, therefore, called as oxidising smog.
2472333

g W & offeiiorur Toict &t 3o Aigdl gicll 3 iR SARIT 1 STRABR0T W HgT il §

standard smog

A
HHS T
classical smog
B
FRIpE T
Photochemical smog
C
Bl HGE T
london smog
D

T W
Correct Ans : C

Subject : Environmental Study

Q.No: 96 is an organism used to gauge the quality of an ecosystem.
2472337

T Siig ¢ Forret Iuan foeht wiikes & qoremn @ Jrem % o fosar e §

Decomposers
A

SibuieR

Predator
B

Rt

Bio-remediator
C

S9-SUARS

Bioindicator
D

TARfSFHeR
Correct Ans : D

Subject : Environmental Study

Q.No: 97 Family is the axis of society, whose statement is it?
2472607

RaR TE B ¥ §, HuF fhaeT -

A C.H. Kule
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dr.um. pa

Makeiver and Page

B
AfFR IR IS
Agust Kampte
C
AT HTIe
Aristotle
D
SR,

Correct Ans : C

Subject : Environmental Study

Q.No: 98 Which part of sugarcane can we get sugar crystals?
2472645

TH & 59 4 3 59 94 & fheed una o Iod 82

From stem Juice

A
GEERCE
From seed juice
B
CIEIERGE]
From the sap of long leaves
C
et ufrdl & W ¥
Soaking the roots with its juice
D

el PI TR SuF W I

Correct Ans : A

Subject : Environmental Study

Q.No: 99 Potato starch begins to at a lower temperature than corn starch
2472936
TS, BT W PI-ReTd DI gaT # HH AUHH R = BIaT 8
Burn
A
EGIEI
Gelatinze
B
[EECIEIER
c Smell
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Y

Separate

TH
Correct Ans : B

Subject : Environmental Study

Q.No: 100 The most affected organs due to smoking is-

2472993
I Y R ST TR ST §-
Kidney
A
e
Heart
B
&gl
Lungs
C
BB
Stomach
D
LA

Correct Ans : C

Subject : Environmental Study

Q.No: 101 In which year was the Antrix Corporation Limited (Antrix) incorporated?
2473872

Ufea HIARIA faffics (tfca) &1 fod oy # mifed fasar mr ure

1983
A

1983

1988
B

1988

1992
C

1992

1999
D

1999

Correct Ans : C

Subject : Environmental Study
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Q.No: 102 The concept of quantum communications is based upon:
2474222

HicH TR P FURN fHY W R g2

Laws of biology

A
i fosm & fraw
Laws of chemistry
B
g fam & faw
Laws of physics
C
Mat & Fram
Laws of anthropology
D

o & Faq

Correct Ans : C

Subject : Environmental Study

Q.No: 103 Farmyard manure refers to the decomposed mixture of and of farm animals.
2475785
BIATS WIE Wd W] & 3R & faufed fhsor &1 Fahia svar g
Dung and urine
A
TR 3R T
Dung and saliva
B
MR 3R TR
Urine and flesh
C
T SR A
Urine and Saliva
D

T SR A
Correct Ans : A

Subject : Environmental Study

Q.No: 104 The largest procurement at MSPs is for which of the following crops?
2475939

AT I I (TH.T. ) W 9e wrel Wkl ufatad & § 67 wadl & o g2
A Wheat and rice
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g 3R =1ad

Wheat and maize

B

g SR Aot

Rice and maize
C

A SR HFRP

Rice, wheat and maize
D

T1ad, Ag 3R Tapl
Correct Ans : A

Subject : Environmental Study

Q.No: 105 Name the player who became the first Indian male to reach semifinals of World Junior Squash in Namibia?
2476573

39 faars! &1 AW Jarg S Ao & fay g R @ & Jdfiegae § ugen ad ugd YR g3y a7

Javed Mohammed

A
Sdg g
Kush Kumar
B
PAPAR
Tushar Kothari
C
TR PSR
Shashi Pandey
D

oy Uig
Correct Ans : B

Subject : Environmental Study

Q-No: 106 The youngest player to win the Ballon d'Or is -
2476650

A SR Sfid I I8 HH I9 F RSl § -

Cristiano Ronaldo

A
forReamt Jmrest
Lional Messi
B
fordive Tt
(o Ronaldo Luis Nazario
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 42/62

Page - 42



TS g9 Al
Luka Modric

b HIigH

Correct Ans : C

Subject : Environmental Study

Q.No: 107 On the basis of the role of the teacher and the student in the teaching-learning process the methods can be
2477211 (assified into :

1.Instructional method
2.student friendly method

Choose the correct code:

fRreror siftrm ufseai & sreamues SR fFenelf 1 yffier & snuR W 3! ARl &1 aifea fovar mor 3 -
1. RIS faftrr

2. faenef - ergea faftr

Tl PIS g

only 1

Faa 1

only 2

Fad 2

both 1 and 2

M1 3R 2

neither 1 nor 2

TA1RAN2

Correct Ans : C

Subject : Environmental Study

Q.No: 108 Picnics can be turned into:

2477331
e ®I gaar o Il &
Joyful learning outings

A
gyl ¥ ot IR H
Just an entertainment

B
T TP TFRoH & g
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C Only as an outing

FHad TP 3T & U H

Competitive outing

fereaelf smefen A

Correct Ans : A

Subject : Environmental Study

Q.No: 109 It is important that good planning of the teaching-learning calendar leads to:
2477356

TRIE/01- SHRRTH FelUeR B 3! dioHT o § Fafafad & ¥ SIY Ag@yqul uRomg Urd gid 82

Diversification of students

A
B! 1 fafaefie=on
Confusion among students
B
BEI & s YA
Improved learning among students
C
BEN & e deaR S
Orthodox ways of learning
D

TrE & wigard! alie

Correct Ans : C

Subject : Environmental Study

Q.No: 110 India contributes to about what percentage of known global biodiversity?
2477820

I I S fafdudr & YR &1 GNIgH THT foha Ufaea §?

6%
A

6%

8%
B

8%

10%
C

10%
D 12%

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 44/62

Page - 44



12%
Correct Ans : B

Subject : Environmental Study

Q.No: 111 Which one of the following is not a negative effect of an increase in Ultraviolet levels?
2477848

fFafafad & § oH-31 16 T Wl § 3ia 31 ToRIES THIE T 67

Skin cancer

A
A FWR
Eye cataract
B
¥ Aifernfde
Immuno Deficiency Disorders
C
uftrer faeR (iR fweicy)
Obesity
D
Hierar

Correct Ans : D

Subject : Environmental Study

Q.No: 112 Which of the following compounds contribute to the formation of ground-level ozone?
2477860

Frafefed 7 9 @19 a1 diffies S TR & el & Ao & grreH & 82

Nitrogen oxide

A
AgEIoH 3fferiTsS
Carbon dioxide
B
B SRS
Sulfur dioxide
C
T STE3RES
Carbon monoxide
D

Pl AISITEIES

Correct Ans : A

Subject : Environmental Study

Q.No: 113 The increase of temperature with the increase of altitude in the atmosphere is -
2477897
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IgHed H $HaATs 96 & A1 aIHE § 3fS BT a1 HgT oIl 872

Positive lapse rate

A
D FIE-T (31 ¥2)
Negative lapse rate
B
FBUIHS FTH-TX (A ¥C)
Increasing lapse rate
Cc
TGl FHE-aR (T XT)
Decreasing lapse rate
D

Hed FR-aX (AW ¥T)

Correct Ans : A

Subject : Environmental Study

Q.No: 114 Which of the following individuals discovered the greenhouse effect?
2478025

fFofafea & § fog afda 3 UHeey uvE 31 @ 312

John Tydall
A

S TS

Roland Jackson
B

AdS ST

Joseph Fourier
C

SR BRaR

Claude Pouillet
D

TGS Uisae
Correct Ans : C

Subject : Environmental Study

Q.No: 115 Xanthium and Cyperinus rotundus are examples of -

2478039

Crop-damaging insects
A

HUd B! JHUM UgdH aid dle
B Crop-eating birds
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wad G ard geft

Weeds
(o

WR-UddR

Nitrogen fixing micro-organisms
D

geior REIER HA a1d Y& s

Correct Ans : C

Subject : Environmental Study

Q.No: 116 The CCE’s purpose of ‘Assessment as Learning’ ensures that -
2478479

W3, 31 FEA S w0 F Sfda $T Ie=d T8 AT Heal ¢ [P -

CCE is not the sole responsibility of the teachers

A
.05, Rie! &1 vpam e 78 8
CCE is a school-based process
B
WAL, o o enuid ufpar €
CCE serves to observe changes in learning progress over time
C
.05, v7a & 9 s 31wl # Sqare o1 e A & g o svar g
CCE helps teachers to adapt to the ever changing world
D

WS, Rierep! Y SR Tead! gHAT & IR 8 H Hag IRl §
Correct Ans : A

Subject : Environmental Study

Q.No: 117 Which of the following is NOT an advantage of using Video-Conference in teaching?
2478624

Fofafad § § S9-31 e & Afei-56a BT TN & BT aOH T8l 8?2

It avoids the participants having to spend time travelling to meet each other.

A
Tg ufaHir &1 v g X e & e amn #a § oy o S sear @
There is never a disruption in video or audio quality during the class.
B
FET F SR T AT %7 T § i off gy T8 g @
The participants in different locations are able to work on the same electronic document.
C
it =T A ufaurl t € sawie SRy W BM FRA § TeH &
D It helps a lot in cutting travel-costs.
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g UET-arTd | ekl $3A & §gd Heg Bedl §
Correct Ans : B

Subject : Environmental Study

Q.No: 118 In which of the following processes does the teacher, peer(s) or elder(s) help the child do a task or understand a
2478670 oncept that the child is initially unable to do independently?

Fofafad o § oF I ufesar ¥, Riee, wht @1 o aafda 37 5= 1 1] A a1 fhft e &) g & Heg $vd §, O
T H J3UA-31Y el &R UTd I A ol Ura?

Assessment
A

SHTpa

Evaluation
B

e

Scaffolding
C

SERIET

Feedback
D

Biea®

Correct Ans : C

Subject : Environmental Study

Q.No: 119 Which of the following is NOT true about the Nature of Continuous and Comprehensive Evaluation?
2478722

Tad 3R S HeUid 1 Upid & aR & Fafifaa & § o1 a1 99 76 22

CCE encourages and motivates students to be positive in their attitudes.

A
GiiE BE 31 3% BB § IHRIAS oH & oL Weifed SR IR Far 51
It emphasizes that teacher’s judgment should be made through an honest and objective appraisal
without bias.

B
g 39 910 R IR a1 ¢ T R &1 Aok famn st yafus & o SumeR SR gy geaie & Ay § fFar s =iigel
It also encourages continuous interaction with parents with regard to their children’s progress and
performance.

C
Tg U F=1 Bt Wfa STR UeRi & Tay F Arar-fiar 3wy FReR sradia 3 ot viewnfsa avar g1
It is an event rather than a process of evaluation.

D

Tg i 3! Ul & SOl T T 7
Correct Ans : D
Subject : Environmental Study
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Q.No: 120 Which of the following is NOT true about Formative Assessment?
2478745

TS SIS & aR § Fafiad 3 § $F 91 9l el 82

Builds on students’ prior knowledge and experience in designing what is taught.

A
W UeTT e § SY fEone B # 9F & g 9 @R gud W S 8
Is diagnostic and remedial.
B
e ok STERES T
Ensures provision for effective feedback.
C
Tt vl ¥ forg wraee g s gl
It is generally is taken by students at the end of a course or academic year to demonstrate the “sum”
of what they have learned
D

g I AR TR ST gRT UedshH a1 Reifdies a¥ & ofq & ferar <1 § aifs 367 o 3@ Uian § S9! "I welkfa fan s &

Correct Ans : D

Subject : Environmental Study

Q.No: 121 How many bones are found in an infant.
2473603

ot RRig & IRR F fbait gl urdt oirelt § -

310 bones
A

310 ggHi

280 bones
B

280 ggHi

210 bones
Cc

210 ggHi

270 bones
D

270 gt

Correct Ans : D

Subject : Child Developement

Q.No: 122 “Environment is an external force which influences us” , who said this -

2473733
" qafaRu U S1gsl Wfad g, S g nuifad Sl g, I8 fa ahel -
Wandwarth
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e e wy s

Ross

R

Franklin

Trebfer

Piaget

TSt

Correct Ans : B

Subject : Child Developement

Q.No: 123 Community word originated by two words of the following language -

2473804
B i CAEC R b R AR L I
Latin
A
afes
Greek
B
picd
German
C
S
French
D
%a

Correct Ans : A

Subject : Child Developement

Q.No: 124 1n a child, process of concept formation begins when he is -
2474337

foft 7= & srayRon Y fwfor uftkar a8 I Sl ® W9 97

able to differentiate between stimulus

A
e & oY iR &7 A Jam ST €
possesses good knowledge of language
B
UTNT T 33T I TGl 3
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C completing 5 years of his age

5 99 F oY T IR A1 ¥

All of the given options

g v ot fawea

Correct Ans : D

Subject : Child Developement

Q.No: 125 A lesson, in which examples are given first and then, students are told to delineate a general rule or principle, is
2474367 nown as a/an

U7 UTe o ISTeR0 Ugd 3T SId € SiR 9% Uelid 6 & U I faw a1 Rigid &1 aufq & & fo ogr wiar g, T8 uie
P! Hgl T &-

Deductive lesson

A
faaee (fSsfaea) us
Inductive lesson
B
ST ($8fdea) we
Knowledge lessons
c
EIGRCI)
Developing lesson
D

wifa=id ue

Correct Ans : B

Subject : Child Developement

Q.No: 126 According to the Dalton Scheme of education; which one of the following is dominant?
2474417

STeeH @t Rig Ao & SuR; Fufafed & § oH-91 uge 32

The teacher

A
e
The contract
B
3y
The student
(o
EJE}
D Guidance
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TrfeRH

Correct Ans : C

Subject : Child Developement

Q.No: 127 Piaget claimed that all of the following are true of his stages of cognitive development EXCEPT:
2474623

gt 7 <ra foan for fFafaRag ot So% TTFee e P ROTF N T IS, STH A H T AT 7

All children progress through the various stages at exactly the same age.

A
Wit o= fiftrs =Roll 7 o & 99 A Wl aRa 8
All children throughout the world pass through the stages in the same order.
B
g R & Tt 5= T o E & ROl Q ToRa §
All normal children reach the stage of concrete operations.
C
Tt T S 319 HaTeH Bt SfawT § Ugd o §
The changes from stage to stage can sometimes be very abrupt.
D

WU & TR0 GREAT HH-PHt 98 aHP 8 B §
Correct Ans : A

Subject : Child Developement

Q.No: 128 One of the following is not the function of motivation.

2474666
fFrafefad & & 15 g SR o1 % T8l 8
It directs the behaviour
A
T TIER I IS I vell §
It sustains the behaviour
B
T IR Pl ST TGl §
It energizes the organism
C
I% IRR PI Hull UGH Hal §
It increases reasoning
D

g qH G DY T¢Il &

Correct Ans : D

Subject : Child Developement

Q.No: 129 Early childhood is ........ period for language development
2476116
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umléﬁmasﬁvrqumﬁi@aﬂa ...................... arq:fﬁs’m?%l

a not-so-significant

A
3ifere Hgeaqut Tét
an unimportant
B
HEaRH
a sensitive
C
GECERI]
a neutral
D
acy

Correct Ans : C

Subject : Child Developement

Q.No: 130 Which of these statements is incorrect?

2476339
T Q B 91 Y TTAd 82
Anger increase with age
A
Y P A T TG 3
Temper tantrums are overt expressions of anger
B
TR F & TH 31 Wy siftveafdd §
Children reared in democrative set up are more prone to anger
C
Wit oIawdT & U T S 1Y & IR o e B §
Anger can be reduced greatly by ignoring unhealthy responses and re-inforcing healthy response to a
particular situation
D

SRy ufaforarett B sFgEr Fa SR et iRy Rufa & fore o=y vfaftsan Y fihR & ] a7 ®iy 31 agd $1 a1 o ST §

Correct Ans : C

Subject : Child Developement

Q.No: 131 While making a class realistic and meaningful, which of the following way should the teacher NOT follow?
2476927

Pel oI gYrdard) iR e 9 gHT e o e 7 I 59 % &1 ures 81 o1 aieu?

Allow a learner to explain the concept in his/her own languages

A
% el 1 Iuat ST # Iheuar 3 rem 34 &
B Allow the learners to take small examples from daily life
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el 1 3% e I BR-B1E e aa §

Ask the learner to repeat what the teacher has said

e 3 ot w1 & SR e 3 R Ramd & o

Allow the learners to find out similarities and dissimilarities of their own

gt &) Wd 3 YHEa SR SR I §
Correct Ans : C

Subject : Child Developement

Q.No: 132 Crawling in human babies in an example of which of the following?
2476983

THa Rrgelt # 31 Fafafed & 3 foueT IqrR 82

Phylogenetic functions

A
Sifogeia st
Ontogenetic functions
B
gt PR
Experience
C
S1gHd
Learning
D
SRR

Correct Ans : A
Subject : Child Developement

Q.No: 133 Who out of the following has the responsibility to develop a positive attitude of a child towards the society?
2477027

1. The family of the child

2. The school of the child

Choose the correct code -

Frofifed # 9 frus o™ 9ae & U 0 9 31 SERIETE eREI fash $v @ e 82
1. ¥ &1 URAR

2. 5 P hd

el PIS g -

Only 1

Fad 1

Nl "
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viny <

B
Fad 2
Both 1 and 2
C
T 18R 2
Neither 1 nor 2
D

a1 eiRTE 2

Correct Ans : C

Subject : Child Developement

Q.No: 134 Which of the following statement is true?

2477055

Fofied § 4 o9 W $u= 9d 82

Learning is influenced by both personal and environmental factors.
A

it safdaT SR vafavoiiy GFf SRe! & wuifad giar 3

Learning is influenced by personal factor but not by environmental factors.
B

3ifr safdaTd SRe! | yHifdd g 8 Afb wafaRoiiy $ReT | T

Learning is not influenced by personal factors but by environmental factors.
C

SIRTH AR HRSBT F ol Sicp TAfGRUNT SRSI § THIIT Bl g1

Learning is neither influenced by personal factors nor environmental factors.
D

SFNTH 7 Y AR PRI I THIRAG BidT & 3R 7 & TaiaRuiig SR Il

Correct Ans : A

Subject : Child Developement

Q.No: 135 Maslow’s hierarchical sequence of 5 needs is:

2477605

ARG $1 5 SRl BT Aviles B g

Physiological, Love and belonging, Self-esteem, Self-actualization, Safety
A

IR, T SR SR, M-I, SHTH-TIfR, JR&T

Physiological, Safety, Love and belonging, Self-esteem, Self-actualization
B

RIS, TR, WR SR ST, -, M-I

Physiological, Safety, Love and belonging, Self-actualization, Self-esteem
C

RS, TRefT, TR SR STATH, M-I, M-
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D Physiological, Self-esteem, Self-actualization, Safety, Love and belonging

TR, STE-THIH, STeT-IfG, JRET, WR R ST
Correct Ans : B

Subject : Child Developement

Q.No: 136 The constitution of the Juvenile Justice Boards is done as per which of the following sections of the Juvenile Justice
2477769 (Care and Protection of Children) Act, 2015?

iR = 1S &1 6+ fHRIR <ar (S B S@HIA SR WRe0T) A, 2015 31 Fufafad & 3 g ¥R & SFER far smar
s

Section 18

YRT 18

Section 32

YRT 32

Section 10

YRT 10

Section 4

URT 4
Correct Ans : D

Subject : Child Developement

Q.No: 137 Which of the following laws first established the children’s courts in India?
2477793

Frafafed § 9 fod S A 98 Ugd YR H S0 JRrerl B RO Hi?
Children Act 1960

A

919 3T 1960

Juvenile Justice Act, 1984
B

&2k =r eifdfam, 1984

Juvenile Justice Act, 2001
Cc

2R =omr sifafaaw, 2001

Juvenile Justice Act, 2014
D

fraR = efafaw, 2014

Correct Ans : A

Subject : Child Developement
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Q.NO: 138 - children are learners who show a difference between their mental capability and their
2478363 performance.

Slow learner

A
AT R arer
Under achiever
B
SH JUAfS Tl
Delinquent
C
Jueft
Creative
D
TP

Correct Ans : B

Subject : Child Developement

Q.No: 139 Which of the following is NOT one of the impacts of neighbourhood on a Child?

2479019

Paffad 3 o9 e 89 R USH & yuEl § § U I8 2

By interacting with such diverse set of people, you may be exposed to various customs and practices
A

U fafry it & wn STda SR, T R SR-Rarel SR wrelt & s 8 g ¥

The growing child may also imbibe values of discipline and orderly behaviour.
B

adl gl ST SRR 3R afyd s9aeR & Jedi &t ot ST B Tobell ¢

Interactions are at both physical and social environment wherein children get easily affected.
C

Fradd Hifoe iR IS QT TR # gl § o 1 S § wifdd g 3

If the child is surrounded by people who are warm and cooperative, he may turn aggressive
D

gfe, g Fergyfasia Sk geantt il & fRT gaen &, o 98 SMmhre & Yobdl §
Correct Ans : D
Subject : Child Developement

Q.No: 140 Pre operational stage of Jean Piaget’s theory is divided into how many substages?
2479190

S s & Rigid & gd-wemer =Rul &1 fbar IU-RUN # fauiira fovar 1 g2
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4
Correct Ans : B

Subject : Child Developement

Q.No: 141 Novel ‘Emile’ was written by -
2479462

I9aT ‘e R ferar T/ o

John Dewey

A

it fedt

Jean Jacques Rousseau
B

S - ST w4

Sri Aurobindo
Cc

ot aRffer

Rabindra Nath Tagore
D

g BTHR
Correct Ans : B

Subject : Child Developement

Q.No: 142 Sri Aurobindo enumerates how many principles of teaching in progressive education?
2479633

off eRfeay wfa=iier fRrem & Riaor & o Rigial oF 7o ad 87

One
A
P
Two
B
il
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C Three

Five

i
Correct Ans : C

Subject : Child Developement

Q.No: 143 What do we mean by “Retention”?
2479884

"3EYR" § THRT FT Aqy g2

It involves descriptions and explanations of a behaviour.

A
O U6 aER & R0 iR W= mftd g
It involves an actual person acting out.
B
TGH ST B F1 TP IRiach ot e gl
It involves observing a person
C
TOH T AR BT SfaciH BT M 3
The capacity to hold information
D

WHPRI @ P &l

Correct Ans : D

Subject : Child Developement

Q.No: 144 Which of the following is also known as the internal state of a child, which is hypothetical and inference is done
2479921 pased on this hypothesis?

fafafad o 3 58 0 9= 3T SffaRes oaw1 & T4 F ot I 911 8, Sl b Sieae § SR 39 URSE & SR W SgHH

TRIT STl 2
Encouragement
A
IS
Motivation
B
SR
Learning
C
T
D Achievement
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Iuafsr

Correct Ans : B

Subject : Child Developement

Q.No: 145 When one asks, “who he is? is he a doctor, engineer or a businessman?”, represents a community and his role
2480020 therein. This is an example of which of the following approach to motivation?

Sd Pls g@dl §, "98 DI 5?7 T1 98 Sidey, SeiiER a1 AGaRt g?", T IHaM 3R I9d 39! YHdT $1 Ui iia = 51 78
42y BRom & fore Fafafaa & @ i eRem o1 S 82

Behaviourist Approach

A
FAERAIG! ERDI0
Humanistic Approach
B
AFadrard! eI
Cognitive Approach
Cc
WS DI
Socio-cultural Approach
D

STl DI
Correct Ans : D
Subject : Child Developement

Q.No: 146 Increased awareness and control of feelings and behaviour by children in a given situation are indicators of
2480108

<1 TS Rufa 7§ 91 gRT 9gd! SREddr 3R HigaTell 3R FiaeR W FEv fhae ddhds 82

Mood
A

Al

Emotions
B

BlERily

Literacy
Cc

HIERT

Coldness
D

RUSKE)

Correct Ans : B

Subject : Child Developement
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Q.No: 147 believes that learning situation should be structured to enable the learner to learn.
2480174

BT 7T g T Riamdf ) Rian-ura &1 § gam 991 & e sifmm aRfufy @ S_iwra far s =nfgul

Bruner
A

TR

Vygotsky
B

EIER G

Skinner
C

R

Freud
D

wS

Correct Ans : A
Subject : Child Developement

Q.No: 148 Which one of the following learning is not based on child-centred education ?
2480666

Prafeiad o A o1 O Rien sra-Sga Riam w sneid 981 &

Discovery
A

ST

Co-operative Learning
B

FEhRI SHfH

Demonstration
C

e

Problem based
D

T TR

Correct Ans : A

Subject : Child Developement

Q.No: 149 Three level of moral development were identified by
2480714

A fawra & i WY F ugaH gRT B TS
A Skinner
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=R

Kohlberg
B

HrEae

Pavlov
C

LICGIC]

Erickson
D

e

Correct Ans : B

Subject : Child Developement

Q.No: 150 Which methodology plays a central role in the information retrieval domain which maintains a strong empirical
2480794  tradition?

DI I ugfa gE gt S8 # T S Yffret MU § S Te Aoleg Sfuasd TRURT &1 ST I/ 82

Evaluation methodology

A

i Tl

Assessment methodology
B

3T UGl

Competitive methodology
C

yforeadf ugfa

Teaching methodology
D

R ugfa

Correct Ans : A

Subject : Child Developement
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